Users	Discou	Rate	Before Discount	Dis	scount	Total Cost
1	0%	\$71.00	\$71.00	\$	_	\$71.00
2	2%	\$71.00	\$142.00	\$	2.84	\$139.16
3	3%	\$71.00	\$213.00	\$	6.39	\$206.61
4	4%	\$71.00	\$284.00	\$	11.36	\$272.64
5	5%	\$71.00	\$355.00	\$	17.75	\$337.25
6	6%	\$71.00	\$426.00	\$	25.56	\$400.44
7	7%	\$71.00	\$497.00	\$	34.79	\$462.21
8	8%	\$71.00	\$568.00	\$	45.44	\$522.56
9	9%	\$71.00	\$639.00	\$	57.51	\$581.49
10	10%	\$71.00	\$710.00	\$	71.00	\$639.00
11	11%	\$71.00	\$781.00	\$	85.91	\$695.09
12	12%	\$71.00	\$852.00	\$	102.24	\$749.76
13	13%	\$71.00	\$923.00	\$	119.99	\$803.01
14	14%	\$71.00	\$994.00	\$	139.16	\$854.84
15	15%	\$71.00	\$1,065.00	\$	159.75	\$905.25
16	16%	\$71.00	\$1,136.00	\$	181.76	\$954.24
17	17%	\$71.00	\$1,207.00	\$	205.19	\$1,001.81
18	18%	\$71.00	\$1,278.00	\$	230.04	\$1,047.96
19	19%	\$71.00	\$1,349.00	\$	256.31	\$1,092.69
20	20%	\$71.00	\$1,420.00	\$	284.00	\$1,136.00
21	21%	\$71.00	\$1,491.00	\$	313.11	\$1,177.89
22	22%	\$71.00	\$1,562.00	\$	343.64	\$1,218.36
23	23%	\$71.00	\$1,633.00	\$	375.59	\$1,257.41
24	24%	\$71.00	\$1,704.00	\$	408.96	\$1,295.04
25	25%	\$71.00	\$1,775.00	\$	443.75	\$1,331.25
26	26%	\$71.00	\$1,846.00	\$	479.96	\$1,366.04
27	27%	\$71.00	\$1,917.00	\$	517.59	\$1,399.41
28	28%	\$71.00	\$1,988.00	\$	556.64	\$1,431.36
29	29%	\$71.00	\$2,059.00	\$	597.11	\$1,461.89
30	30%	\$71.00	\$2,130.00	\$	639.00	\$1,491.00
31	31%	\$71.00	\$2,201.00	\$	682.31	\$1,518.69
32	32%	\$71.00	\$2,272.00	\$	727.04	\$1,544.96
33	33%	\$71.00	\$2,343.00	\$	773.19	\$1,569.81
34	34%	\$71.00	\$2,414.00	\$	820.76	\$1,593.24
35	35%	\$71.00	\$2,485.00	\$	869.75	\$1,615.25
36	36%	\$71.00	\$2,556.00	\$	920.16	\$1,635.84
37	37%	\$71.00	\$2,627.00	\$	971.99	\$1,655.01
38	38%	\$71.00	\$2,698.00	\$	1,025.24	\$1,672.76
39	39%	\$71.00	\$2,769.00	\$	1,079.91	\$1,689.09
40	40%	\$71.00	\$2,840.00	\$	1,136.00	\$1,704.00
41	41%	\$71.00	\$2,911.00	\$	1,193.51	\$1,717.49
42	42%	\$71.00	\$2,982.00	\$	1,252.44	\$1,729.56
43	43%	\$71.00	\$3,053.00	\$	1,312.79	\$1,740.21

Users	Discou	Rate	Before Discount	Dis	scount	Total Cost
44	44%	\$71.00	\$3,124.00	\$	1,374.56	\$1,749.44
45	45%	\$71.00	\$3,195.00	\$	1,437.75	\$1,757.25
46	46%	\$71.00	\$3,266.00	\$	1,502.36	\$1,763.64
47	47%	\$71.00	\$3,337.00	\$	1,568.39	\$1,768.61
48	48%	\$71.00	\$3,408.00	\$	1,635.84	\$1,772.16
49	49%	\$71.00	\$3,479.00	\$	1,704.71	\$1,774.29
50	50%	\$71.00	\$3,550.00	\$	1,775.00	\$1,775.00
51	50%	\$71.00	\$3,621.00	\$	1,810.50	\$1,810.50
52	50%	\$71.00	\$3,692.00	\$	1,846.00	\$1,846.00
53	50%	\$71.00	\$3,763.00	\$	1,881.50	\$1,881.50
54	50%	\$71.00	\$3,834.00	\$	1,917.00	\$1,917.00
55	50%	\$71.00	\$3,905.00	\$	1,952.50	\$1,952.50
56	50%	\$71.00	\$3,976.00	\$	1,988.00	\$1,988.00
57	50%	\$71.00	\$4,047.00	\$	2,023.50	\$2,023.50
58	50%	\$71.00	\$4,118.00	\$	2,059.00	\$2,059.00
59	50%	\$71.00	\$4,189.00	\$	2,094.50	\$2,094.50
60	50%	\$71.00	\$4,260.00	\$	2,130.00	\$2,130.00
61	50%	\$71.00	\$4,331.00	\$	2,165.50	\$2,165.50
62	50%	\$71.00	\$4,402.00	\$	2,201.00	\$2,201.00
63	50%	\$71.00	\$4,473.00	\$	2,236.50	\$2,236.50
64	50%	\$71.00	\$4,544.00	\$	2,272.00	\$2,272.00
65	50%	\$71.00	\$4,615.00	\$	2,307.50	\$2,307.50
66	50%	\$71.00	\$4,686.00	\$	2,343.00	\$2,343.00
67	50%	\$71.00	\$4,757.00	\$	2,378.50	\$2,378.50
68	50%	\$71.00	\$4,828.00	\$	2,414.00	\$2,414.00
69	50%	\$71.00	\$4,899.00	\$	2,449.50	\$2,449.50
70	50%	\$71.00	\$4,970.00	\$	2,485.00	\$2,485.00
71	50%	\$71.00	\$5,041.00	\$	2,520.50	\$2,520.50
72	50%	\$71.00	\$5,112.00	\$	2,556.00	\$2,556.00
73	50%	\$71.00	\$5,183.00	\$	2,591.50	\$2,591.50
74	50%	\$71.00	\$5,254.00	\$	2,627.00	\$2,627.00
75	50%	\$71.00	\$5,325.00	\$	2,662.50	\$2,662.50
76	50%	\$71.00	\$5,396.00	\$	2,698.00	\$2,698.00
77	50%	\$71.00	\$5,467.00	\$	2,733.50	\$2,733.50
78	50%	\$71.00	\$5,538.00	\$	2,769.00	\$2,769.00
79	50%	\$71.00	\$5,609.00	\$	2,804.50	\$2,804.50
80	50%	\$71.00	\$5,680.00	\$	2,840.00	\$2,840.00
81	50%	\$71.00	\$5,751.00	\$	2,875.50	\$2,875.50
82	50%	\$71.00	\$5,822.00	\$	2,911.00	\$2,911.00
83	50%	\$71.00	\$5,893.00	\$	2,946.50	\$2,946.50
84	50%	\$71.00	\$5,964.00	\$	2,982.00	\$2,982.00
85	50%	\$71.00	\$6,035.00	\$	3,017.50	\$3,017.50
86	50%	\$71.00	\$6,106.00	\$	3,053.00	\$3,053.00

Users	Discou	Rate	Before Discount	Dis	scount	Total Cost
87	50%	\$71.00	\$6,177.00	\$	3,088.50	\$3,088.50
88	50%	\$71.00	\$6,248.00	\$	3,124.00	\$3,124.00
89	50%	\$71.00	\$6,319.00	\$	3,159.50	\$3,159.50
90	50%	\$71.00	\$6,390.00	\$	3,195.00	\$3,195.00
91	50%	\$71.00	\$6,461.00	\$	3,230.50	\$3,230.50
92	50%	\$71.00	\$6,532.00	\$	3,266.00	\$3,266.00
93	50%	\$71.00	\$6,603.00	\$	3,301.50	\$3,301.50
94	50%	\$71.00	\$6,674.00	\$	3,337.00	\$3,337.00
95	50%	\$71.00	\$6,745.00	\$	3,372.50	\$3,372.50
96	50%	\$71.00	\$6,816.00	\$	3,408.00	\$3,408.00
97	50%	\$71.00	\$6,887.00	\$	3,443.50	\$3,443.50
98	50%	\$71.00	\$6,958.00	\$	3,479.00	\$3,479.00
99	50%	\$71.00	\$7,029.00	\$	3,514.50	\$3,514.50
100	50%	\$71.00	\$7,100.00	\$	3,550.00	\$3,550.00
101	50%	\$71.00	\$7,171.00	\$	3,585.50	\$3,585.50
102	50%	\$71.00	\$7,242.00	\$	3,621.00	\$3,621.00
103	50%	\$71.00	\$7,313.00	\$	3,656.50	\$3,656.50
104	50%	\$71.00	\$7,384.00	\$	3,692.00	\$3,692.00
105	50%	\$71.00	\$7,455.00	\$	3,727.50	\$3,727.50
106	50%	\$71.00	\$7,526.00	\$	3,763.00	\$3,763.00
107	50%	\$71.00	\$7,597.00	\$	3,798.50	\$3,798.50
108	50%	\$71.00	\$7,668.00	\$	3,834.00	\$3,834.00
109	50%	\$71.00	\$7,739.00	\$	3,869.50	\$3,869.50
110	50%	\$71.00	\$7,810.00	\$	3,905.00	\$3,905.00
111	50%	\$71.00	\$7,881.00	\$	3,940.50	\$3,940.50
112	50%	\$71.00	\$7,952.00	\$	3,976.00	\$3,976.00
113	50%	\$71.00	\$8,023.00	\$	4,011.50	\$4,011.50
114	50%	\$71.00	\$8,094.00	\$	4,047.00	\$4,047.00
115	50%	\$71.00	\$8,165.00	\$	4,082.50	\$4,082.50
116	50%	\$71.00	\$8,236.00	\$	4,118.00	\$4,118.00
117	50%	\$71.00	\$8,307.00	\$	4,153.50	\$4,153.50
118	50%	\$71.00	\$8,378.00	\$	4,189.00	\$4,189.00
119	50%	\$71.00	\$8,449.00	\$	4,224.50	\$4,224.50
120	50%	\$71.00	\$8,520.00	\$	4,260.00	\$4,260.00
121	50%	\$71.00	\$8,591.00	\$	4,295.50	\$4,295.50
122	50%	\$71.00	\$8,662.00	\$	4,331.00	\$4,331.00
123	50%	\$71.00	\$8,733.00	\$	4,366.50	\$4,366.50
124	50%	\$71.00	\$8,804.00	\$	4,402.00	\$4,402.00
125	50%	\$71.00	\$8,875.00	\$	4,437.50	\$4,437.50
126	50%	\$71.00	\$8,946.00	\$	4,473.00	\$4,473.00
127	50%	\$71.00	\$9,017.00	\$	4,508.50	\$4,508.50
128	50%	\$71.00	\$9,088.00	\$	4,544.00	\$4,544.00
129	50%	\$71.00	\$9,159.00	\$	4,579.50	\$4,579.50

llsers	Discou	Rate	Before Discount	Dis	scount	Total Cost
130	50%	\$71.00	\$9,230.00	\$	4,615.00	\$4,615.00
131	50%	\$71.00	\$9,301.00	\$	4,650.50	\$4,650.50
132	50%	\$71.00	\$9,372.00	\$	4,686.00	\$4,686.00
133	50%	\$71.00	\$9,443.00	\$	4,721.50	\$4,721.50
134	50%	\$71.00	\$9,514.00	\$	4,757.00	\$4,757.00
135	50%	\$71.00	\$9,585.00	\$	4,792.50	\$4,792.50
136	50%	\$71.00	\$9,656.00	\$	4,792.30	\$4,792.30
137	50%	\$71.00	\$9,727.00	\$	4,863.50	\$4,863.50
138	50%	\$71.00	\$9,798.00	\$		\$4,899.00
139	50%	\$71.00		\$	4,899.00	\$4,839.00
			\$9,869.00	\$	4,934.50	. 1
140	50%	\$71.00	\$9,940.00	\$	4,970.00	\$4,970.00
141	50%	\$71.00	\$10,011.00	\$	5,005.50	\$5,005.50
142	50%	\$71.00	\$10,082.00	\$	5,041.00	\$5,041.00
143	50%	\$71.00	\$10,153.00		5,076.50	\$5,076.50
144	50%	\$71.00	\$10,224.00	\$	5,112.00	\$5,112.00
145	50%	\$71.00	\$10,295.00	\$	5,147.50	\$5,147.50
146	50%	\$71.00	\$10,366.00	\$	5,183.00	\$5,183.00
147	50%	\$71.00	\$10,437.00	\$	5,218.50	\$5,218.50
148	50%	\$71.00	\$10,508.00	\$	5,254.00	\$5,254.00
149	50%	\$71.00	\$10,579.00	\$	5,289.50	\$5,289.50
150	50%	\$71.00	\$10,650.00	\$	5,325.00	\$5,325.00
151	50%	\$71.00	\$10,721.00	\$	5,360.50	\$5,360.50
152	50%	\$71.00	\$10,792.00	\$	5,396.00	\$5,396.00
153	50%	\$71.00	\$10,863.00	\$	5,431.50	\$5,431.50
154	50%	\$71.00	\$10,934.00	\$	5,467.00	\$5,467.00
155	50%	\$71.00	\$11,005.00	\$	5,502.50	\$5,502.50
156	50%	\$71.00	\$11,076.00	\$	5,538.00	\$5,538.00
157	50%	\$71.00	\$11,147.00	\$	5,573.50	\$5,573.50
158	50%	\$71.00	\$11,218.00	\$	5,609.00	\$5,609.00
159	50%	\$71.00	\$11,289.00	\$	5,644.50	\$5,644.50
160	50%	\$71.00	\$11,360.00	\$	5,680.00	\$5,680.00
161	50%	\$71.00	\$11,431.00	\$	5,715.50	\$5,715.50
162	50%	\$71.00	\$11,502.00	\$	5,751.00	\$5,751.00
163	50%	\$71.00	\$11,573.00	\$	5,786.50	\$5 <i>,</i> 786.50
164	50%	\$71.00	\$11,644.00	\$	5,822.00	\$5 <i>,</i> 822.00
165	50%	\$71.00	\$11,715.00	\$	5,857.50	\$5 <i>,</i> 857.50
166	50%	\$71.00	\$11,786.00	\$	5,893.00	\$5,893.00
167	50%	\$71.00	\$11,857.00	\$	5,928.50	\$5,928.50
168	50%	\$71.00	\$11,928.00	\$	5,964.00	\$5,964.00
169	50%	\$71.00	\$11,999.00	\$	5,999.50	\$5,999.50
170	50%	\$71.00	\$12,070.00	\$	6,035.00	\$6,035.00
171	50%	\$71.00	\$12,141.00	\$	6,070.50	\$6,070.50
172	50%	\$71.00	\$12,212.00	\$	6,106.00	\$6,106.00

			Before			
Users	Discou	Rate	Discount	Dis	count	Total Cost
173	50%	\$71.00	\$12,283.00	\$	6,141.50	\$6,141.50
174	50%	\$71.00	\$12,354.00	\$	6,177.00	\$6,177.00
175	50%	\$71.00	\$12,425.00	\$	6,212.50	\$6,212.50
176	50%	\$71.00	\$12,496.00	\$	6,248.00	\$6,248.00
177	50%	\$71.00	\$12,567.00	\$	6,283.50	\$6,283.50
178	50%	\$71.00	\$12,638.00	\$	6,319.00	\$6,319.00
179	50%	\$71.00	\$12,709.00	\$	6,354.50	\$6,354.50
180	50%	\$71.00	\$12,780.00	\$	6,390.00	\$6,390.00
181	50%	\$71.00	\$12,851.00	\$	6,425.50	\$6,425.50
182	50%	\$71.00	\$12,922.00	\$	6,461.00	\$6,461.00
183	50%	\$71.00	\$12,993.00	\$	6,496.50	\$6,496.50
184	50%	\$71.00	\$13,064.00	\$	6,532.00	\$6,532.00
185	50%	\$71.00	\$13,135.00	\$	6,567.50	\$6,567.50
186	50%	\$71.00	\$13,206.00	\$	6,603.00	\$6,603.00
187	50%	\$71.00	\$13,277.00	\$	6,638.50	\$6,638.50
188	50%	\$71.00	\$13,348.00	\$	6,674.00	\$6,674.00
189	50%	\$71.00	\$13,419.00	\$	6,709.50	\$6,709.50
190	50%	\$71.00	\$13,490.00	\$	6,745.00	\$6,745.00
191	50%	\$71.00	\$13,561.00	\$	6,780.50	\$6,780.50
192	50%	\$71.00	\$13,632.00	\$	6,816.00	\$6,816.00
193	50%	\$71.00	\$13,703.00	\$	6,851.50	\$6,851.50
194	50%	\$71.00	\$13,774.00	\$	6,887.00	\$6,887.00
195	50%	\$71.00	\$13,845.00	\$	6,922.50	\$6,922.50
196	50%	\$71.00	\$13,916.00	\$	6,958.00	\$6,958.00
197	50%	\$71.00	\$13,987.00	\$	6,993.50	\$6,993.50
198	50%	\$71.00	\$14,058.00	\$	7,029.00	\$7,029.00
199	50%	\$71.00	\$14,129.00	\$	7,064.50	\$7,064.50
200	50%	\$71.00	\$14,200.00	\$	7,100.00	\$7,100.00